Subject: histogram
Posted by rinceboy on Tue, 11 Aug 2009 17:09:24 GMT
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Hi,

I'm using IDL to make and overplot histograms of temperature. | create
the first histogram from my first dataset and plot it. Then | overplot
another histogram from the second dataset. | use a common binsize of 5
degreesK for both. My problem is that the bin-bounds don't align e.g.

for my first histogram, say, a 5K bin is aligned between 20-25K,

however for the second dataset the 5K bin is aligned between 22-27K.

My question is: how to | have a common bin-alignment between the two
datasets?

Any ideas are more than welcome,

-C
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